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However, Shammai and - 7293 25927 "32 R9R 17901 KD 99577 SRR 199K
Hillel only argued regarding three matters exclusively

Overview

The xn3 rejected the answer that it was 1ny»01 *Xnw and 1ny»01 5217 that were M3 the
927 n"; since we know that 11"21 w"2 argued on the 127 11", however % *knw only
argued on three matters. N15010 explains why we cannot resolve this issue in the same
manner that a similar issue was resolved.

mooIn asks:
= ONPIYNNA TNV PINI D927 /)T N1IYY 9NN ON)

And if you will say; let us say that regarding three matter 577 *knw argued and
persisted in their argument This is what is referred to as 9m1 *Xnw Pom1 MAPH 32 -
- 19990 9% 179N B934 N5 ANYA)

However in the 927 1''> they argued, but the next they agreed with each other -
—INIVYY S9N 9Y PINY KD Y91 3D 9813 KON KDY 7599 99 2)109PY 3wnTa

As the X3 answered later when it asked, ‘but there is another np17nn between
*Xnw and 7771 by nab 2213, etc. the X n3 answered, but %977 was silent (acquiesced) to

IN2W; he did not persist in the argument -
= 05939 /) *1NAa NY 2 XY *INY

So therefore it is not counted among the three matters which >x»uwn 577 argue. Let us
say the same thing regarding the 127 1", since eventually (7"21) 9777 acquiesced to w"2a therefore it
is not included in the 2>727 'a!

N1D0IN answers:
- TN IMND 199 99 AN INPYY Y51 1Y PINY NAY 983137 DNNY 3T YT Y Y

And one can say; that the case of 7127 11" is not comparable to the case by =933
na, for there 77 was silent to *8»w and admitted to him immediately on the
spot -

= PUN XY INY

Therefore n3> 1x12 is not considered another issues in which %271 *®nw argued -
- P50 XY 99505 159 910 XY 901 19 MWIN K 1PN 01 Y27 XN YaN

However here, they argued the entire day and did not come to an agreement

! See the X3 on X0 which states regarding the 927 1> 13 that "7 21 PR oV 12,
2 R,0.
3 n3% 912 means one who is harvesting (7%13) grapes to bring them to the wine press (n3). The question is whether the
liquid which oozes out from the grapes is 7°w3n the grapes to be axmw 72pn (the view of w'"2) or not (7"2).
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until the morrow, therefore it should not have been said that they did not argue
regarding the 227 0. This proves that 527 *Xnw were not involved in the (npY7nn of) 127 1™ —

n1oIN anticipates a difficulty:*
- 37 75 19TAY O3 PN 590 NPV PIY YU NPT 22 YY 9N

And even though there is a slight indication that sx»w and %277 themselves were

present on the day they decreed the 927 1" -
= 55995 INIVY 239Y AW 9195 HHN NN BN INN NI 82 23) (x> 97) 2INPT 9927 Y9 NNY

For just as the Xn»m2 states regarding the np17rmn of na%? 93125 ‘on that day %7

was subservient and sitting before SX»w, etc.’ (like one of the students) -
1NN DOUYN VT 9D P98 DIPN DM 0927 179 %2) THAVT NNADINA 2INP 1) 6997

(And) the same expression is also taught in the Xnp2wn of naw noon regarding the
227 n''>; nevertheless it is necessary to assume that they were two different

stories; one by 9m1 *Xnw regarding na> 7%127,% and a similar story by 7"21 "2 regarding the n"
9
737.

Summary
It is not considered an argument when one relents immediately, but not if he agrees

only on the next day.

Thinking it over
How are we to understand that if 9577 admitted "myn 10X’ it is not considered as if

they argued (even though initially they did argue for some period of time), but if
they argued one day and agreed the next day, that is considered an argument (even
though now there is no argument); does it depend on time (minutes, hours or days)?

4 The conclusion of the X n3 here is that 9271 *Xnw argued in three matters only (and not in the 727 n'"; that was by the
7"21w"2), however from the following it seems that 9771 *Rw themselves were involved in the 927 1"™.

3> The ®n»72 concludes there, 3w 12 Awvaw ord HRIWH awp M. The X"w"mn includes this phrase in the text of ‘0.
¢ The X"w"mn amends this to read *271 (instead of >3m).

71" R"; it states there as well, 235 12 TWYIY QY2 HRIWL OnY TWR QYT INIR T 412 12 177 127 Awy ey, We find
an almost identical expression (121 2RW°2 7wp) both by the np1onn of NA% 1312 (between 2271 *Riaw) and by the 127 '™,
seemingly indicating that 997 *knw were there by the 7127 1" n°1 and took part in the arguments.

8 There it was 2X W% qwp as >"w1 explains 101w w1 Honw 5.

? See W"X777 '01n who writes, “Xaw *7nbn %199 2°01931 QY PTRON 1A T2 "1 1P D98 v aws.
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